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FlaE | have many cats.

Some have a white tail. Other have a black tail.
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| have two cats.
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One has a white tail. The other has a black tail.

L]
- £ 0f2| & ¢ Of2le AN 13|, CH2 3 ot
ZeM ma|

ol
mea.

8. XCIH o, EXICIH XE 2MH8. 9

Some of them have a white tail. The other have a
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| have two cats.

One has a white tail. The other has a black tail. [O]
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| have three cats.

One has a white tail. The other have a black tail. [X]
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One has a white tail. Another has a red tail. The other

has a black tail. [O]
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| have many cats.

Some have a white tail. Other have a black tail. [X]
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